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Answer ALL questions.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box ¢ and then mark your new answer with a cross [X.

1 This question is about acids, alkalis and indicators.

(@) Which of these is the colour of litmus indicator in an acidic solution?

X

[
=
]

O n W >

blue
orange
red

yellow

(b) Which of these is the pH value of a neutral solution?

|

|
7
[

O Nn W >

¢
4
7

14

(c) Which of these describes a solution with a pH value of 97

0

L]
O
=

A
B
C
D

strongly acidic
strongly alkaline
weakly acidic

weakly alkaline
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(d) Which of these is the chemical formula of an acid?

HNO,

H,O
NaCl

O O 0O K
O N @ >

NaOH

(e) Name the type of reaction that occurs when an acid reacts with an alkali.
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(f) Name the two products of the reaction between hydrochloric acid and
potassium hydroxide.
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____(Total for Question 1 =7 marks)
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(@) (i) State the meaning of the term solute.

(ii) State the meaning of the term solvent.

(b) Explain what is meant by a saturated solution.

(c) A dark purple liquid is diluted by adding water.
The diluted liquid becomes a pale purple colour.
Explain the process that causes this change.

Refer to particles in your answer.
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_ (Total for Question 2 = 6 marks)
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3 This question is about chromatography.

Two students carry out separate chromatography experiments to find the R values
for five different food dyes, A, B, C, D and E.

(@) State two things that should be the same in both experiments so that the
students can compare their results fairly.

] —
1 (% b e GANVAIAN

(b) After doing the experiments the students calculate the Ry value for each food dye.

The table shows their results.

Student 1 Student 2

uye R; value R; value

A 045 0.45
B 0.63 0.64
C 0.00 0.00
D 0.83 1.20

E ‘ 0.30 0.30

(i) State what can be concluded about dye C.

C ws wslobe e B Sohens -

(i) Explain which R value cannot be correct.
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(c) The diagram shows a chromatogram for a different food dye.

Some distances are shown on the diagram.

top of paper
20cm | solvent front
2.3cm
:‘F .
9.7¢cm
| start line
1.0 CmI L bottom of paper

Calculate the Ry value for this food dye.

Give your answer to two significant figures.
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(Total for Question 3 = 8 marks)
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4

(a) State the meaning of the term atomic number.

e nae 1 oabons (p (o bl q o adee

i

(b) An atom of element X contains 14 protons, 14 electrons and 15 neutrons.

(i) Which of these is the mass number of this atom?

O A 14
O B 15
O ¢ 28
X D 29

(ii) Explain which group of the Periodic Table element X belongs to.
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(c) The table shows the composition of a sample of a different element, Y, containing
three isotopes.

Mass number of isotope Percentage of isotope in sample

- 32 95.0
33 0.75
34 425

DO'NOT WRITE IN THIS AREA

Using information from the table, calculate the relative atomic mass (A,) of this
sample of element Y.

Give your answer to one decimal place.

w

32(45) ¥ 307D w34 (6.29)

Z — 32 .047S

: ) N 3.

d.e.)
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5 This is a question about metals and their compounds.

(a) State one property of metals.

(b) Mercury is the only metal that is liquid at room temperature.

Describe the difference in the movement of particles in liquid mercury and in a
solid metal.

7 N, \ [ ) . n z . A \ H
lm \\(’\\,J{;" ?”\4@‘;3 Gﬁ*(ﬁ‘f(;‘%J (ﬂ«‘ﬁ W< Mg recs W Shd  Matd)
oy ks G i W gogfios, L

(c) Magnesium is a metal that burns in air.

(i) State one observation made during the combustion of magnesium metal.

P“'_ \( s r N o) > .\' -
DA\ LI\ e s

(ii) State one chemical property of the product of combustion that can be used to
classify magnesium as a metal.

in A & - . -y £
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(d) In the absence of air, magnesium reacts with sulfur to form the ionic compound
magnesium sulfide, MgS

(i) Give a reason why the reaction needs to be done in the absence of air.
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(i) Describe, in terms pf electrons, the formation of the ions in
magnesium sulfide.

Give the charges on the ions.

F\ f‘"‘"\j'%ﬁ‘»—f"‘\ ko (,wp Qoo eletheors E{&m - ‘J‘J o

j““ hosa akggm Q oM™ Gn S(f AN

(iv) Magnesium sulfide reacts with hydrochloric acid to form magnesium chloride
and hydrogen sulfide gas, H,S

Give the chemical equation for this reaction.
\ < :
________ Mg> HMA — MG, AWS
(Total for Question 5 = 14 marks)
|
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Ocimene is an organic compound that gives some plants their particular smell.

The molecular formula of ocimene is C;oHq¢

(a) Calculate the relative formula mass (M,) of ocimene.

o(17) )¢

(b) Using ocimene as an example, explain what is meant by the term
empirical formula.

Ms K Sepest (bl numby’ @ke o Gkes pregt b

C,(x» Potad -

T empala) (ﬁ< 4 OGeawne 8 C}j He -

(c) The displayed formula of ocimene is

H H
| |

H—C—H H—C—H
H H H H H
E || -
H—C—(—C—C—C—C—C=C_

| | H
H H

Explain why ocimene is described as an unsaturated hydrocarbon.
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(d) Ocimene is an alkene.

(i) Which of these types of reaction occurs between ocimene and bromine?

bl addition -
polymerisation j -

precipitation | —

O N W B

[
X|
[

substitution =

i
2
(-5
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a

(i) Many alkenes have the general formula C.H,,

Suggest why ocimene does not have this general formula.

A A
Q«‘m (09 ¥ L‘ % iﬁ 2

(e) Ocimene can take part in combustion reactions.

Complete the equation for the complete combustion of ocimene.

) 10O gH,0
C10H16 S i i 02 —> . -'J“;__ & t ...........
< |
L
3‘; |
< | |
C A
5 | |
£ | ’i
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3 |
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(f) Two different products can form during the incomplete combustion of ocimene.
One product is a solid and the other is a poisonous gas.

(i) Identify these two products.

G

o] A 7 ‘I .i
((_u boo onoxide redines “L 2 (‘,{?Lﬁ—'\(*t} fn’f bl‘{:’f:l? C

Cafvon  Mamoxide .

(ii) State why the gas produced is poisonous. .

o]

(Total for Question 6 = 13 marks)

' ||II|||I||I||_|I||IIIII|III|IIIII_HIIII_IIIIl||I|IIIII;IIIII_IIIIIIIII|II|

B




DO NOT WRITE IN THIS AREA DO NOTWRITE IN THIS AREA

DU NWULWHH EIN 1 HI>D AKEA

7 (a)

Explain the meaning of the term thermal decomposition.

(b

The equation for the thermal decomposition of potassium hydrogencarbonate is
2KHCO; — K,CO; + H,O + CO,

Calculate the maximum mass of K,CO; that could be produced from the thermal
decomposition of 2.50 g of KHCO,

n((LRCO,) = Mem .%o

= m

) 412306

Z 0.005 ™

Y

Yokio o ( RCO, . V\ICQ’),_B‘) s T

\’\(lﬁ?_(/@:g i OOt 2 O 6\ mS)

g .

(*"!( \.Q_@S\) N 'Y <)

. ( 2 1y ‘3(\9‘)> W@ O
= .25

maximum mass of K,CO; = ...

(Total for Question 7 = 6 marks)
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8 A student uses this apparatus in an experiment to study the rate of the reaction
between zinc and dilute sulfuric acid.

zinc granules dilute sulfuric acid

= OO &

g | l

o L . balance
[ [ 1756249 ) ﬂ/

This is the student’s method.

- add a few zinc granules to a conical flask on a balance

« add 100cm’ of dilute sulfuric acid to the flask, start a timer and immediately
record the mass of the flask and contents

+ record the mass of the flask and contents every minute until the mass
remains constant

The mass of the flask and contents decreases because hydrogen gas is produced and
leaves the flask.

The student uses the mass readings to calculate the total mass of
hydrogen produced.

(@) Complete the equation for the reaction by adding the state symbols.

-
<
|8
Y
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x*
-
N
'L
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(b) The table shows the student’s results.

e e Total mass of hydrogen produced

in mg
0 0
1 80
2 110
3 130
4 148
5 162
6 165
/ 184
8 192
9 198
10 204
11 209
12 214
13 218
14 220
15 220

(i) Plot the student’s results. The first three have been done for you.
(i) Draw a circle around the anomalous result.

(i) Draw a curve of best fit.
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(iv) Give a possible reason for the anomalous result.

Tr‘u ‘I\'S,L'}L ink.\—‘) s k_ﬁ“»i/u)\ \9({'{”}("{ (::) ™My L\'h- [ \Zf

(v) Determine a more likely value for this result. "
RLS
(©) (i) Explain how the shape of the curve shows how the rate of the reaction 7
changes as time increases.
1 - " IO T 2 : ’ Cl
s b inGeass KLy Cuve beComes lass Steep) Showwy
- 4 ) I -
Huﬁm«‘grﬂ(kﬂxﬁ‘ B e ————————————————

(ii) At the end of the experiment there is no zinc left in the flask.

Give a conclusion the student could make from this observation.

ﬂwQ\ x(“lx.}’ wn RGeS S
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(d) The student does another experiment using

+  the same amount of similarly sized magnesium granules instead of zinc

+ the same volume of sulfuric acid, but of a lower concentration ;
Explain why it is difficult to predict how the rate of reaction in this experiment
compares with the rate of reaction in the first experiment.

Magnesin s e wackle the Gee So win hoense fla abe. |
Li‘.%(. Ci\é\Ck/'\t L ke ‘Cl(.'itf.,i {f_,d,').,uu" (ﬂﬁ@“"«’éﬁ U-ua Rute. - 1

s Gt & b didvg Qe Gl oty bive Hee |

o Greas u(ct M%wt@w\wu “—* YM W, wueex |

(e) Explain, in terms of particle collision theory, how increasing the temperature i
affects the rate of a reaction.

jt\M k’:

F\t “‘ v l(f:fff‘.éﬁf'fa-%‘\-«wg U /1 (L»&J L’?Cw”’_ rvuﬂ enerys
HK'C*tL‘Up’ (U“{ M@\Q S Uf‘"ﬁ? ()” SanS (7 uN U,\

(Total for Question 8 = 15 marks)
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9 A student is given a mixture of two white solid compounds, and a colourless solution
containing the same two compounds.

a

S
J

1M LON C

[
K

The student is told that one of the compounds is a halide and that the other
compound is a carbonate.

(a) Give two reasons why the student should know, without doing any tests, that one
of the compounds cannot be copper(ll) carbonate.

Coppr () Caloordke s opeen | 2

”'COO‘&[/ () Calborare g Waslble.

(b) Describe tests the student could do to show that the mixture contains
potassium carbonate and potassium iodide.

ﬂ(an ku*_Mﬁﬁﬁﬂfamfdwgkﬁ(L“**mmmmmmmmmmmmmmm %

U

‘@ub\b\i\’”" :)M d?“’““*" '“*'__._.‘l"“‘ o "h/ |
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(Total for Question 9 = 8 marks)
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10 (a) A student is given a pure sample of sodium carbonate crystals and is told that the
formula of the crystals is Na,CO;.xH,0

State what xH,0 in the formula shows about the sodium carbonate crystals.

f ‘ {’H ] 1 C oo
= )( _— oo w2 L Stall \Sakb o .
..................... OGN i ii T S T T T

(b) The student uses this apparatus to find the value of x in Na,CO;.xH,0

crucible

sodium carbonate

’[ crystals

heat

This is the student’s method.

. find the mass of an empty crucible without a lid

. add some sodium carbonate crystals Na,CO;.xH,0 to the crucible
. find the total mass of the crucible and sodium carbonate crystals
. heat the crucible to remove water from the crystals

. allow the crucible and contents to cool down

. find the mass of the cold crucible and contents

These are the student’s results.

Mass in grams

empty crucible 22.75
crucible and sodium carbonate crystals Na,CO;.xH,0 29.71
cold crucible and contents 25.93

R

[ W




DO NOT WRITE IN THIS AREA

DO NOT WRITE IN THIS AREA

A N LW RELE TN 1D AREA

BT

(i) Calculate the mass of sodium carbonate left after heating and cooling.

(i) Calculate the mass of H,0 lost from the sodium carbonate crystals

during heating.

74N - 75 43

1S .93 -0.75

Al A \35_)

- 3K

(i) Show that the student’s results suggest that the formula of the
sodium carbonate crystals is Na,CO,.7H,0

[M, of Na,CO; =

106

N»«,l (OB

M, of H,0 = 18]

mass of sodium carbonate= ..

3

massof H,O = ...

T
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(c) The student’s teacher says that the correct formula of the sodium carbonate
crystals is Na,CO;.10H,0

(i) The student did not make any mistakes in their measurements.

Explain what could have caused the student’s value for x to be too low.

T Gyt bui @ by g S wa

[} 3 :
}( {“1\’ ‘L’QC\,\(-/ Loas ¥ v "'--7"""3-")? '

(i) Describe how the student could improve the method to obtain a more
accurate value for x.
(et Leheck and  revow j\f\. wtd 6 Consket Maks s
rea e
~ (Total for Question 10 = 10 marks)
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11 A student investigates the temperature change during the reaction between
zinc metal and copper(ll) sulfate solution.

The student considers two different methods.

Method 1
. pour 50cm® of copper(ll) sulfate
solution into the polystyrene cup
« record the temperature of
the solution
polystyrene cup « add 3g of zinc powder
+  stir using the thermometer and
record the highest temperature
reached
Method 2
bung . record the temperature of 50cm’ of

copper(ll) sulfate solution

. pour the 50cm’ of copper(ll) sulfate
solution into the glass bottle

|_—dlass bottle - add 3g of zinc powder

push the bung and thermometer
into the bottle and record the
highest temperature reached

) R O 0 .
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(a) Discuss the advantages and disadvantages of each method.
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(b) The equation for the reaction is
Zn(s) + CuSO,(aq) — ZnSO,(ag) + Cu(s)

50 cm® of copper(ll) sulfate solution contains 0.025 mol CuSO,
A mass of 3 g of zinc is used.
Show that the zinc is in excess.

[A, of zinc = 65]
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(c) The student reacts a solution containing 0.025 mol CuSO, with an excess of zinc.

These are the student’s results.
temperature of 50 cm® of copper(ll) sulfate solution = 21.1°C
highest temperature reached = 40.6°C
(i) Show that the energy change Q for this reaction is about 4000J
[mass of 1cm’ of solution = 1.0g]

[for the solution, c=4.2J/g/°C]

Q = ™C &8N

——®
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(i) Calculate the molar enthalpy change (AH), in kJ/mol, for the reaction.

a5
Q\‘f . Li-O »
0.oLS

.
= - V. 2% 0D I
BERVER o) 28

=

(d) The ionic equation for the reaction is
Zn(s) + Cu*(ag) — Zn*(aq) + Cu(s)

Explain what is oxidised and what is reduced in this reaction.

&eC S 0xid D bcaue ¥ loses lechos.

(Total for Question 11 = 16 marks)

TOTAL FOR PAPER = 110 MARKS
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